BUDHA DAL PUBLIC SCHOOL, PATIALA
Final Examination (20 February 2024)

Class - XI
HOME SCIENCE (064)
MM.70

I'ime: 3hrs

All questions are compulsory. :
l.  Rita has designed a frock for her six year old daughter using light and dark pink colour (1)
aspects of a colour.

c)Hue  d)Intensity

which indicate

a) Chroma b) Value
2. Which stage of fashion cycle involves manufactures copying fashion and preparing (1) |
adaptations of it as many price levels? {
a) Decline in popularity
b]- Increase in popularity - %

¢) Introduction of a style

d) Peak of popularity
3.  Hot pant is an example of @)
a) Classic b) Fashion

Which of the following is not the guiding principle of ECCE?

¢)Fads  d)Stvle
(1) %

4,
a)  Blend of textual and cultural sources

b) Experiential learning is emphasized
¢) Based on only informal interaction

d) Health, well being and healthy habits
Name the psychologist who emphasized on supportive environment for young children (1)
a) Piaget b) Maria Montessori c) Vygotsky d) Sigmund Freud
6. Which of the following method of washing is usually used in front load washing (1)
machine? '
a) Agitation b) Tumbling c) Pulsation d) Crumbling
Aditya is wering dark pink kurta with light pink pyjama. The colour harmony he is (1)

I\ ‘

referring to
b) Achromatic c¢) Accented  d) Monochromatic

a) Analogous
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10.

11.

13.

s i (1)
The shapes that do not resemble any specific objects ar€

a)Natural ~ b) Abstract c)Stylised  d) Geomatric
What are the basic objectives of ECCE?

. ' it
a) Development of child to enable him/ her to realize the potentia

(1)

b) Preparation for school
¢) Supportservices for women and children

d) All of the above

i i in (1
Juveniles who are found guilty in terms of violation of law are placed in custodial care (1)

which type of home?
a) Observation homes
b) Special homes
) Juvenile/ children homes
d) SOS children villages
What are the special features of elderly population in India? (1)
a) Feminisation of the elderly population
b) Increase in the number of the older - old

€) Alarge percentage (30%) of the senior citizens is below the poverty line
d) All of the a bove

Read the fo]]owing statement Assertion (A) and Reason (R) (1)

Assertion (A) : In hotel industry the most relevant are aesthetic and final finishing of the
articles.

Reason (R) : The articles in the hotel are the varying fibre content.
Select the most appropriate answer
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.
c) .Ais true and R is false.
d) Ais false butR is true

Read the following statement Assertion (A) and Reason (R)

Assertion (A) : For a programme or instituti i (1)
: on for the child
involvement of community is must. ren to be successful,

Reason (R) : While planning
community members is must.
Select the most appropriate answer

a) Both A and R are true, and R is the correct explanation,

b) Both A and R are true, but R is not the correct explanation
c) Aistrue R is false. '

d) Ais false but R is true

such a programme of institution the permission of
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Case Study Based Questions:

Preschool education is imparted to childrenin 3 - g years of age. It is the first stage of

organized education. It is provided in any of the settings such as Anganwadis, Nursery
schools, Kindergarten, Montessori schools and Preprimary sections  located in
government and private schools. Preschool education promotes access to universal, joyful

equitable learning, opportunities  for ensuring holistic development of all children

between 3 - 6 vears of age. These can be ensured by involving parents and teachers in
providing on emotionally  supportive, culturnll}' rooted, child oriented stimulating
learning, environment. It aims at maximizing individual potential by creating strong
toundations for lifelong, learning through play and developmentally appropriate
practices. It also intends to develop healthy attitude, good values, skills of critical
thinking, creativity and socio emotional development. It ensures smooth transition from

preschool to primary school thus enabling children for productive and satistying life is
huture.

-

Preschool education provided by government in rural areas is through - (1)
a) Creches  b) Montessori schools  ¢) Anganwadis  d) Tutors

Which ot the tollowing statements is not true?
a) Anganwadis take care of education and nutrition of the child.
b) Montessori schools provide education through play.
¢) Preparation for reading and writing starts during preschool years.
d) Daycare centres provide formal education to small children.

(1)

Preschools dey 1'10},‘ the tollow 1y u|L].‘sHTiL‘h’- in the child

1)
a) Creativity b) Critical thinking  ¢) Good communication d) All ot the above

The environment of the preschool should be

1)
a) Jovful  b)Supportive ¢) Culturally oriented ~ d) All of the above

Section-B

In Anganwadis education is provided through : (1)
a) Books  b) Play material  ¢) Chlk material ~ d) Examination

19.  What one role Sudha will have as a fashion merchandiser in each ot the tollowing fields (1)

a) Manufacturing
b) Promotion

0. Noori wants to create a clothing collection using contrasting colour scheme. What four (2)
. different types of contrasting scheme she can apply?

1. Sushma wants to create dress using different shopes. Which four basic shapes she can (2)
=de 'IJS 1 (8 + )
create by using different types of liens.
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| 33.

35.

TR e WS / 7 =
Give reasons for the following: @)
a) Spinning to near dryness is avoided
b) Agitators of washing machine should be made of Bakelite.
Why France became the centre of fashion in the 18t Century? 2
State the term used for male and female, (2)

" Name different stages of fashion cycle.

Ilustrate any three ways each of creating rhythm in your school unitorm.
[llustrate any three ways each of creating emphasis in a kurta/kurti.

a) Distinguish between the view point of Piaget and Vygotsky in context to ECCE.
b) State any two role of ECCE professional.
Explain three levels of merchandising in fashion industry.

Nilesh wants to be a visual merchandise designer.
a) What are the four merchandising rights he should be aware of?
b) What two specific skills he must possess?
Why laundry is an art and science? Give any four differences between household and

commercial laundry.

The field of design for fabric and apparel has expanded and become so vast that it can
actually be considered as two specializations. Reena has done a certificate programme
from a recongised institute in this tield. She wants to open up a tashion hk‘m;\u.

a) She wants to create a unique design in.afrock for a six year old girl. How can see

create rhythm in the frock. :
b) She is designing a gent's kurta for a person with heavy arms. In what two ways

she is going to shift the emphasis away from the arms.

a) Why are youth vulnerable? Give two reasons.
b) What is National Service Scheme? Highlight any two activities taken up under not

lonal service scheme.

Mohan has recently opened Hi-tech laundry in the city. He got a contract signed with the

government hospital. o | i
a) What two important points he must consider while doing h_ospxtal laundry?
b) What eight steps of the process of laundry function in hospitals?

In order for the child to grow optimally in all areas it is important that the child’s needs

for food shelter, health care, love, nurturance and stimulation bil.’ un-_:t ina l_mhstrc umn.m:-i-é
SOS and ICDS are example of some of the programmes operating in the country to mee
the needs f vulnerable children.

a) When was first SOS village established?

b) What is the main aim of SOS village? .

¢) How can you distinguish it with [CDS? Give three points.
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BupHA DAL PUBLIC SCHOOL, PATIALA
Final Examination ( 9 March 2024)

Class - XI
HOME SCIENCE (064)
M.M. 70
Time: 3hrs
All questions are compulsory.

L T \hich of the following method of washing is usually used in front load washing (1)

machine?
a) Agitation  b) Tumbling ) Pulsation  d) Crumbling
2. Which of the following is not the guiding principle of ECCE? (1)

a) Blend of textual and cultural sources
b) Experiential learning is emphasized
¢) Based on only informal interaction
d) Health, well being and hezilthy habits
3. Whatare the basic objectives of ECCE? 1)
a) Development of child to enable him/her to realize the potential

b) Preparation for school \
) Support services for women and children

d) All of the above
4. Aditya is wering dark pink kurta with light pink pyjama. The colour harmony he is (1)
referring to

a) Analogous  b) Achromatic c¢) Accented d) Monochromatic

1}
.

Name the psychologist who emphasized on supportive environment for young children (1)
a) Piaget  b)Maria Montessori  ¢) Vygotsky  d) Sigmund Freud

6.  Rita has designed a frock for her six year old daughter using light and dark pink colour (1)
which indicate aspects of a colour.
a) Chroma b) Value c¢)Hue  d)Intensity

7. Juveniles who are found guilty in terms of violation of law are placed in custodial care in (1)
which type of home?
a) Observation homes
b) Special homes
¢) Juvenile/ children homes
d) SOS children villages
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. fashion and preparing (1)
Which stage of fashion cycle involves manufactures copying

8.
adaptations of it as many price levels?
a) Decline in popularity
b) Increase in popularity
¢) Introduction of a style
d) Peak of popularity )
9.  The shapes that do not resemble any specific objects are - (1)
a) Natural  b) Abstract c) Stylised d) Geomatric
10. Hot pant is an example of - (1)
a) Classic b) Fashion c)Fads d)Style
11. What are the special features of elderly population in India? (1)
a) Feminisation of the elderly population '
b) Increase in the number of the older - old
c) A large percentage (30%) of the senior citizens is below the poverty line
d) All of the a bove
12. Read the following statement Assertion (.\) and Reason (R) (1)
Assertion (A) : In hotel industry the most relevant are aesthetic and final finishing of the
articles, ) ) -
Reason (R) : The articles in the hotel are the varying fibre content.
Select the most appropriate answer
a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) Aistrueand Ris false.
d) Ais false but R is true
13. Read the following statement Assertion (A) and Reason (R) 1)

Assertion (A) : For a programme or institution for the children to be successful,
involvement of community is must.
Reason (R) : While planning such a programme of institution the permission of
community members is must.
Select the most appropriate answer

a) Both A and R are true, and R is the correct explanation.

b) Both A and R are true, but R is not the correct explanation,

c) AistrueR is false,

d) Ais false butR is true
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case Study Based Questions:

preschool cducnlilnn is i.mpnrtcfl to fhildren in3 - g years of age. It is the first stage of
organized education, It is provided in any of the settings such as Anganwadis, Nursery
schools, Kindergarten, Montessor schools  and Preprimary sections located in
government and private schools. Preschool education promotes access to universal, joyful
equitable learning, opportunities for ensuring holistic development of all children
between 3 - 6 years of age. These can be ensured by involving parents and teachers in
providing on emotionally supportive, culturally rooted, child oriented stimulating
learning, environment. It aims at maximizing individual potential by creating strong
foundations for lifclong learning through play and developmentally appropriate
practices, It also intends to develop healthy attitude, good values, skills of critical
thinking, creativity and socio emotional development. It ensures smooth transition from
preschool to primary school thus enabling children for productive and satisfying life is
future. '

14. Preschool education provided by government in rural areas is through - (1)
a) Creches b) Montessori schools  c) Anganwadis d) Tutors

15.  Which of the following statements is not true? o)
a) Anganwadis take care of education and nutrition of the child.
b) Montessori schools provide education through play.
¢) Preparation for reading and writing starts during preschool years.
d) Daycare centres provide formal education to small children.

16. Preschools develop the following qualities in the child (1)
a) Creativity b) Critical thinking  ¢) Good communication  d) All of the above
17. The environment of the preschool should be 1)

a) Joyful  b)Supportive c) Culturally oriented  d) All of the above

Section-B

18. What one role Sudha will have as a fashion merchandiser in each of the following fields: (1)
a) Manufacturing
b) Promotion

19. In Anganwadis education is provided through . 1)
a) Books b) Play material  c) Chlk material  d) Examination

20.  Give reasons for the following: )
a) Spinning to near dryness is avoided
b) Agitators of washing machine should be made of Bakelite.
21. Sushma wants to create dress using different shopes. Which four basic shapes she can (2)
create by using different types of liens. '

-
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a clothing collection using contrasting colour scheme. What four (2

s of contrasting scheme she can apply?

the centre of fashion in the 18t Century?

(2)
(2)

different type

23. Why France became
State the term used for male and female.
25. Name different Stages of fashion cycle.

Hlustrate any three ways each of creating rhythm in your school uniform.
three ways each of creating emphasis in a kurta/kurti.
between t]le view point of Piaget and Vygotsky in context to ECCE.
ole of ECCE professional.
Is of merchandising in fashion industry.

24,

7. [llustrate any

28. a) Distinguish
b) State any two T

29, Explain three leve
30. Nilesh wants to bea visual merchandise designer.
a) Whatare the four merchandising rights he should be aware of?

What two specific skills he must possess?

b)
e? Give any four differences between household and

Why laundry is an art and scienc
commercial laundry.
32 The field of design for fabric and apparel has expanded and become so vast that it can
actually be considered as two specializations. Reena has done a certificate programme
from a recongised institute in this field. She wants to open up a fashion house.

a) She wants to create a unique design in a frock for a six year old girl. How can see

create rhythm in the frock.
¢s kurta for a person with heavy arms. In what two ways

b) She is designing a gen
she is going to shift the emphasis away from the arms.

31

a) Why are youth vulnerable? Give two reasons.
tivities taken up under not

b) What is National Service Scheme? Highlight any two ac
lonal service scheme.

33.

34. Mohan has recently opened Hi-tech laundry in the city. He gota contract signed with the
government hospital.
;) Vv;'hhzt two important points he must consider while doing hospital laundry?
) t eight steps of the process of laundry function in hospitals?
35. In orde i - ild’
[2::1:01;; :Erllthe (}:luld ke optimally in al| areas it is important that the child’s needs
SOS and Ié Dgr;rlﬂalth carlu, I?W' nurturance and stimulation be met in a holistic manner.
S are example of s : operating i > eet
e reade ] o Insralle Chrsldren.f:ome of the programﬂ195 operating in the country to m
a) thn.was first SOS village establisheg
b) What is the main aim of S0Og villag : ?
H istinguish i it
¢) How can you distinguish i with ICDS? Give three points.
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